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Nimi: Paivamadra: _ Pisteet:

1072 = 10D =

7x10 = 4x 100 =
611,3x 1001 = 1003 =

1002 = 1004 =
245.5x 1002 = 1 x 100D =

7% 100D = 1002 =

2% 10 = 1003 =

476+ 10* = 394, 1+ 100 =
9% 100 = 1002 =

1079 = 4% 1004 =
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Nimi: Paivamaara: _ Pisteet:
1072 = 0.01 1077 =0.1
7 %10 = 70 4 x 1072 = 0.004
611,3 x 10°Y =61.13 107% = 0.001
1072 = 0.01 107 = 0.0001
245,5 x 1002 =2.455 1x 107V =0.1
7x107Y =07 107% = 0.01
—2x 10 =-20 107 = 0.001
476 + 10% = 4.76 394, 1+ 1072 = 394100
-2 x 107 = -0.002 1072 = 0.01
107 = 0.001 4 % 107 = 0.0004
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